How to build it.
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The inductionloops:

By shortcircuiting of the loop a vehicle is being simulated. Because their are 2 sets of inductionloops, you have to build two sets of loops

D.m.v. het kortsluiten van de lus wordt er een voertuig (metaal) gesimuleerd.
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Schematics
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partlist:

D3 = 1N4001

D1, D2 = LED Red 5mm

R1, R2 = 470 Ohm

S1 = single switch

IC1 = BASIC Stamp 1

IC2 = ULN2003A

Relais (2 pieces) = Miniatuur relais 9 of 12 Volt

Software voor de BASIC Stamp I:

output 5

output 7

let pin5 = 0

let pin7 = 0

flits:

let pin5 = 1

pause 67

let pin7 = 1

pause 67

let pin5 = 0

pause 67

let pin7 = 0

pause 1000

goto flits:

Instructions:

After you have build it and loaded the software, you can switch it on. Leds 1 and 2 will lit up after one another. Led1 is the first loop, and led2 is the second loop.

Put the loops correctly on the induction loops and turn on the device. Within 10 minutes the film should be full.

For more information you can email to drquintezz@hotmail.com
You should be ablt to understand most of it if you read it als mis spelled English.
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